7a7 BES A Hb B XK B IME7Y Eprdh 7= V)
AEE ] 601 FL—7 TL— 2.60 1.85 2 4.81 9.62
AEE B6pE 601 sY—vh—Fv |FL—v 5.00 2.20 2 11.00 22.00
AEE e 601 gY—vh—Fv |FL—v 3.00 2.20 2 6.60 13.20
AEE B6pE 601 F—r 7= TL—v 2.00 1.85 1 3.70 3.70
AEE ] 602 FL—7 TL— 2.60 1.85 2 4.81 9.62
AEE B6RE 602 sY—vh—Fv |FL—v 5.00 2.20 2 11.00 22.00
REE (] 602 g)—vh—Fv | TL—v 3.00 2.20 2 6.60 13.20
AEE B6RE 603 FL—7 TL—v 2.60 1.85 2 4.81 9.62
REE E0 603 sY—vh—Fv |FL—v 5.00 2.20 2 11.00 22.00
AEE 6/ 603 gY—vh—Fv |FL—v 3.00 2.20 2 6.60 13.20
AEE EX9 605 FL—7 TL— 2.60 1.85 2 4.81 9.62
AEE e 605 sY—vh—Fv |FL—v 5.00 2.20 4 11.00 44.00
AEE E91 605 sY—vh—F7v |FL—v 3.00 2.20 2 6.60 13.20
AEE e 606 FL—7 TL— 2.60 1.85 2 4.81 9.62
AEE B6pE 606 sY—vh—Fv |FL—v 5.00 2.20 4 11.00 44.00
AEE e 606 gY—vh—Fv |FL—v 3.00 2.20 2 6.60 13.20
AEE B6pE 607 FL—7 TL—y 2.60 1.85 2 4.81 9.62
AEE ] 607 sY—vh—Fv |FL—v 5.00 2.20 4 11.00 44.00
AEE B6RE 607 sY—vh—Fv |FL—v 3.00 2.20 2 6.60 13.20
REE (] 608 FL—7 TL—v 2.60 1.85 2 4.81 9.62
AEE B6RE 608 sY—vh—Fv |FL—v 5.00 2.20 4 11.00 44.00
REE ] 608 ) —vh—Fv | TL—v 3.00 2.20 2 6.60 13.20
AER H 6P AL (ZF) >y — TL— 1.50 1.85 1 2.78 2.78
REE i NE S — TL— 1.50 1.85 1 2.78 2.78
AEE e - 610 FL—7 A 1.80 1.85 2 3.33 6.66
REE B9 610 F—r 7= TL—v 2.00 1.85 1 3.70 3.70
AEE 6 R 610 >y — TL— 1.50 1.80 1 2.70 2.70
AEE 9 611 FL—7 TL—y 2.60 1.85 1 4.81 4.81
AEE ] 611 F—r7Y—v TL— 2.00 1.85 1 3.70 3.70
N L] 612 FL—7 L= 3.10 1.85 1 5.74 5.74
AEE ] 612 sY—vh—Fv |FL—v 5.00 2.20 1 11.00 11.00
AEE B6pE 612 sY—vh—Fv |FL—v 3.00 2.20 1 6.60 6.60
AEE ] 613 FL—7 TL— 2.60 1.85 2 4.81 9.62
AEE B6RE 613 sY—vh—Fv |FL—v 5.00 2.20 2 11.00 22.00
REE ] 613 ) —vh—Fv | TL—v 3.00 2.20 2 6.60 13.20
AEE 6 HiFF ML >y — TL—> 2.00 1.85 1 3.70 3.70
REE E 615 FL—7 TL— 2.60 1.85 1 4.81 4.81
AEE e 615 F—hr 7= A 2.50 1.85 1 4.63 4.63
REE B9 616 FL—7 TL— 2.60 1.85 1 4.81 4.81
AEE 6/ 616 F—kTU—v TL— 2.50 1.85 1 4.63 4.63
AEE B6pE 617 FL—7 TL—y 2.60 1.85 1 4.81 4.81
AEE 6 617 g)—vh—F7v |TL—v 3.50 2.20 1 7.70 7.70
AEE BH6pE 618 FL—7 TL—y 2.60 1.85 1 4.81 4.81
AEE ] 618 sY—vh—Fv |FL—v 3.50 2.20 1 7.70 7.70
N L] NEES FL—7 L= 2.60 1.85 1 4.81 4.81
REE ] REE=E sY—vh—Fv |FL—v 3.00 2.20 1 6.60 6.60
AEE B6pE F—2RRF— 3V F—r 7= TL—y 2.00 0.85 2 1.70 3.40
REE ] F—RRF— a3V F—rFY = TL—v 1.00 0.90 1 0.90 0.90
AEE ] BHRE F—hr 7= TL— 2.50 1.70 2 4.25 8.50
AREE ] HRE F—r 7= TL— 3.50 1.70 2 5.95 11.90
AREE 6 TFMAL >y — TL—> 1.00 1.85 1 1.85 1.85
REE 75 6 EVHA—LEIAL— L —Z BEo7 2.20 2.10 2 4.62 9.24
PN 7565 F—ARF— 3V gU—vh—5v |TL—v 1.50 2.20 1 3.30 3.30
REE 75 6 F—RRF— a3y EE TL— 2.50 1.60 1 4.00 4.00
AEE 75 6 F—RRF— 3V F—kTU—v VA 1.00 0.98 2 0.98 1.96
AEE 75 6 F—RRF— a3V F—r 7= TL—y 1.00 1.40 1 1.40 1.40
AEE 75 6 662 FL—7 TL— 2.60 1.85 2 4.81 9.62
AEE 75 6 662 F—r 7= TL—y 5.00 1.80 3 9.00 27.00
REE 75 6 651 FL—7 A 2.60 1.85 2 4.81 9.62
AEE 75 6 651 sY—vh—Fv |FL—v 5.00 2.20 2 11.00 22.00
REE 75 6 i 651 g)—vh—Fv | TL—v 3.00 2.20 2 6.60 13.20
AEE 75 6 652 FL—7 TL—y 2.60 1.85 2 4.81 9.62
REE 75 6 i 652 g)—vh—Fv | TL—v 5.00 2.20 2 11.00 22.00
AEE 75 6 652 sY—vh—Fv |FL—v 3.00 2.20 2 6.60 13.20
REE 75 6 653 FL—7 TL— 2.60 1.85 2 4.81 9.62
AEE 75 6 653 sY—vh—Fv |FL—v 5.00 2.20 4 11.00 44.00
REE 75 6 653 sY—vh—Fv |FL—v 3.00 2.20 2 6.60 13.20
AEE 75 6 . 655 FL—7 VA 2.60 1.85 2 4.81 9.62
AEE 7o 6 HRRE e sY—vh—F> |FL—> 5.00 2.20 4 11.00 44.00
AEE 75 6 655 sY—vh—Fv |FL—v 3.00 2.20 2 6.60 13.20




a7y HE# A B X AR 5y IMH7Y Fran="t)
AEE a6k 656 FL—7 L= 1.80 1.85 1 3.33 3.33
AEE A 6RE 656 gY—vh—F7v |[TL—v 2.00 2.20 1 4.40 4.40
AER a6k 657 FL—7 L= 2.60 1.85 1 4.81 4.81
AEE a6k 657 g)—vh—F7v |TL—V 2.00 2.20 1 4.40 4.40
AER o6k 658 FL—7 L= 2.60 1.85 1 4.81 4.81
AEE FE6pE 658 g)—vh—F7v |TL—V 2.00 2.20 1 4.40 4.40
AER a6k 660 FL—7 - 2.60 1.85 1 4.81 4.81
AEE a6 5 660 g—vh—F7v |[TL—v 2.00 2.20 1 4.40 4.40
AER A 66 661 FL—7 L= 2.60 1.85 1 4.81 4.81
AEE o6 5 661 g—=—vh—F7v |[TL—v 2.00 2.20 1 4.40 4.40
AEE a6k wE - AN vy — L= 1.50 2.00 1 3.00 3.00
AEE 75 6B IWE=E B L= 1.80 1.70 2 3.06 6.12
AEE a6k WE=E FL—7 L= 2.00 1.70 1 3.40 3.40
AEE 7 6FE WEE g)—=vh—F7> |TL—V 1.50 2.20 1 3.30 3.30
AEE a6k WE=E Dl - 1.00 0.85 1 0.85 0.85
¥N: 75 6 B F—RAF—Yav g)—vh—F7v |TL—v 3.00 2.20 1 6.60 6.60
AEE a6k T—RARRTFT—av i L= 2.00 0.90 1 1.80 1.80
AREE a6k FT—XARXTFT—v 3> bl L= 1.00 0.85 1 0.85 0.85
AEE 75 6B WE=E F—=—rT) = L= 3.50 0.90 1 3.15 3.15
AER 75 6B WEE F—r7T) = L= 1.00 0.85 1 0.85 0.85
AEE 7o 65 R—IL FL—7 L= 2.60 1.85 2 4.81 9.62
AER a6k 671 FL—7 - 2.60 1.85 2 4.81 9.62
AEE 7o6 5 671 g—=—vh—F7v |TL—v 5.00 2.20 4 11.00 44.00
AER a6k 671 gY—vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
AEE o6k 672 FL—7 L= 2.60 1.85 2 4.81 9.62
AER A 6RE 672 gY—vh—FTv |TL—V 5.00 2.20 4 11.00 44.00
AEE o6 5 o 52 672 g—=—>h—F7v | TL—v 3.00 2.20 2 6.60 13.20
AEE A 66 673 FL—7 L= 2.60 1.85 2 4.81 9.62
AEE a6k 673 g—=—>h—F7v |TL—v 5.00 2.20 2 11.00 22.00
AEE a6k 673 g)—vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
AER o6k 675 FL—7 L= 3.10 1.85 2 5.74 11.47
AEE a6k 675 g)—vh—F7v |TL—V 5.00 2.20 2 11.00 22.00
AEE o6k 675 g—=—>h—FTv | TL—v 3.00 2.20 2 6.60 13.20
AEE a6 676 FL—7 L= 2.60 1.85 1 4.81 4.81
AER a6k 676 gY—vh—7>v |FTL—v 5.00 2.20 1 11.00 11.00
AEE 7o6 5 677 FL—7 L= 2.60 1.85 1 4.81 4.81
AER a6k 677 gY—vh—F7v |TL—V 5.00 2.20 1 11.00 11.00
AEE o6k 678 FL—7 L= 2.60 1.85 1 4.81 4.81
AER A 6RE ML vy — - 1.50 1.80 1 2.70 2.70
AEE B 5P Hhry77L X F—=rT = L= 1.50 1.20 1 1.80 1.80
AEE RSP FT—RRTFT—v 3V F—rT) = L= 1.50 0.80 3 1.20 3.60
AEE B 5P T—RARXTFT— 3 F—=rT = L= 2.50 0.80 2 2.00 4.00
AEE ERHBE WE=E gY—vh—F7v |[TL—v 4.00 2.20 1 8.80 8.80
AEE RSP 517 FL—7 L= 2.60 1.85 1 4.81 4.81
AEE RSP 517 g)—vh—F7v |TL—V 3.00 2.20 1 6.60 6.60
AREE RS FE 517 F—r7TY =V L= 1.50 1.20 1 1.80 1.80
AEE RSP 501 FL—7 L= 2.60 1.85 2 4.81 9.62
AER RSP 501 gY—vh—7>v |FTL—v 5.00 2.20 4 11.00 44.00
AEE B 5P 501 g—vh—F7v |[TL—v 3.00 2.20 2 6.60 13.20
AER ER 5P 502 FL—7 - 2.60 1.85 2 4.81 9.62
AEE B 5P 502 g—vh—F7v |TL—v 5.00 2.20 4 11.00 44.00
AEE RSP 502 gV—vh—7>v |TL—v 3.00 2.20 2 6.60 13.20
AEE RSP 503 FL—7 L= 2.60 1.85 2 4.81 9.62
AER RSP 503 gY—vh—FTv |TL—V 5.00 2.20 4 11.00 44.00
AEE B 5P 503 g—=—>h—F7v |[TL—v 3.00 2.20 2 6.60 13.20
AREE RSP 505 FL—7 L= 2.60 1.85 2 4.81 9.62
AEE RSP 505 g—=—>h—F7v |[TL—v 5.00 2.20 4 11.00 44.00
AEE ER 5P 505 gY)—vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
AREE RSP 506 FL—7 L= 2.60 1.85 2 4.81 9.62
AEE RSP 506 g)—vh—F7v |TL—V 5.00 2.20 4 11.00 44.00
AER RSP 506 gY—vh—7>v |FTL—v 3.00 2.20 2 6.60 13.20
AKEE RSP 507 FL—7 L= 2.60 1.85 2 4.81 9.62
AER RSP 507 gY—vh—7>v |FTL—v 5.00 2.20 4 11.00 44.00
AEE RSP R 507 g)—=vh—F7v |[TL—V 3.00 2.20 2 6.60 13.20
AER ER5FE 508 FL—7 - 2.00 1.85 2 3.70 7.40
AEE RSP 508 L —X L= 2.00 1.83 2 3.66 7.32
AER ER 5P 508 F—rT) = L= 2.00 1.85 1 3.70 3.70
AEE B 5P 508 DA L= 1.50 1.50 0 2.25 0.00
AEE RSP 510 FL—7 - 1.80 1.85 2 3.33 6.66
AEE RSP 510 g)—vh—F7> |TL—V 4.00 2.20 1 8.80 8.80




a7y HE# A B X AR 5y IMH7Y Fran="t)
AEE 5B 511 FL—7 TL—y 2.60 1.85 2 4.81 9.62
AER H5RE 511 g)—vh—Fv |FL—v 3.00 2.20 2 6.60 13.20
AER H5BE 511 g)—vh—F> |TL—v 5.00 2.20 2 11.00 22.00
AER H50E 512 FL—7 L=y 2.60 1.85 2 4.81 9.62
AEE 5B 512 g)—=>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AER 50 512 g)—>h—F> |TL—v 5.00 2.20 2 11.00 22.00
AER 5B 513 FL—7 L= 2.80 1.85 1 5.18 5.18
¥N: 5 513 g)—vh—F7v |TL—v 3.50 2.20 1 7.70 7.70
AER Y 515 FL—7 TL—> 2.60 1.85 1 4.81 4.81
¥N: 5 515 g)—vh—F7v |TL—v 3.50 2.20 1 7.70 7.70
AER Y 516 FL—7 L= 2.60 1.85 1 4.81 4.81
¥N: 5 R 516 g)—vh—F7v |TL—v 3.50 2.20 1 7.70 7.70
AER 5B Wt = F—+T =Y L= 1.50 1.85 1 2.78 2.78
¥N: 5 R BLWT AL >y — TL—> 1.50 1.80 1 2.70 2.70
AER BR5 B RE >y — TL—v 2.00 1.85 1 3.70 3.70
AER 5B 566 FL—7 TL— 2.60 1.85 1 4.81 4.81
AER 50 566 g)—vh—F> |FL—v 3.00 2.20 1 6.60 6.60
AEE 5B 567 FL—7 L= 2.60 1.85 1 4.81 4.81
AER Y 567 g)—>h—F> |FL—v 3.00 2.20 1 6.60 6.60
AER 75 5B EVHA—LFAL— L —X Fo7# 2.20 2.10 2 4.62 9.24
AER 785 P RIGIEE BEH TL—> 2.60 1.90 1 4.94 4.94
AEE 75 5B hy7r7L>R Do) TL—y 2.60 1.90 1 4.94 4.94
AER 785 b 551 FL—7 TL— 2.60 1.85 2 4.81 9.62
AER 75 5B 551 g)—=>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AER 75 5B 551 g)—>h—F> |FL—v 3.00 2.20 2 6.60 13.20
AER 75 b 552 FL—7 - 2.60 1.85 2 4.81 9.62
AEE 75 5B 552 g)—>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AER 785 b 552 g)—=vh—Fv |TL—v 3.00 2.20 2 6.60 13.20
AER 75 5B 553 FL—7 TL—y 2.60 1.85 2 4.81 9.62
AER 785 b 553 g)—vh—Fv |FL—v 5.00 2.20 4 11.00 44.00
AEE 75 5B 553 g)—=>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AER 785 b 555 FL—7 L=y 2.60 1.85 2 4.81 9.62
AEE 75 5B 555 g)—=>h—F7> |TL—v 5.00 2.20 4 11.00 44.00
AER 785 b 555 g)—vh—F> |TL—v 3.00 2.20 2 6.60 13.20
AEE 75 5B 556 FL—7 L= 2.60 1.85 2 4.81 9.62
AER 785 b 556 g)—>h—F> |FL—v 5.00 2.20 4 11.00 44.00
AER 75 5B 556 g)—=>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AER 75 5B DU NE FL—7 TL—y 2.60 1.85 2 4.81 9.62
AER 75 b DY NE g)—=>h—F> |TL—v 5.00 2.20 1 11.00 11.00
AER 75 5B - DU NE g)—>h—F> |TL—v 3.00 2.20 1 6.60 6.60
AER 785 b 558 FL—7 L=y 1.40 1.85 2 2.59 5.18
AEE 75 5B 558 L —X TL— 1.40 1.83 2 2.56 5.12
AER 785 b 558 g)—=vh—Fv |FL—v 2.00 2.20 1 4.40 4.40
AEE 75 5B 558 T — TL— 1.50 1.50 1 2.25 2.25
AER 785 b 560 FL—7 L=y 2.60 1.85 1 4.81 4.81
AEE 75 5B 561 FL—7 TL—y 2.60 1.85 2 4.81 9.62
PNEE 745 b 561 g)—vh—Fv |FL—v 5.00 2.20 2 11.00 22.00
AER 75 5B 561 sV—vh—F> |TL—v 3.00 2.20 2 6.60 13.20
AER 785 b 562 FL—7 TL— 2.60 1.85 2 4.81 9.62
AER 75 5B 562 g)—=>h—F> |TL—v 5.00 2.20 2 11.00 22.00
AER 75 5B 562 g)—>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AER 7558 A= v — L= 1.50 1.70 1 2.55 2.55
PN 755 B F—ARF— 3V gU—vh—5v |TL—v 1.50 2.20 1 3.30 3.30
PiN:E 75 5B HFRE F—rT =Y - 3.50 1.85 2 6.48 12.95
¥N: 755 B HRRE =t = L= 1.50 1.85 1 2.78 2.78
AER 75 5B HRE il NV TL—v 3.00 1.85 3 5.55 16.65
AEE 7558 HRE il N R TL—y 3.00 1.20 1 3.60 3.60
AER 785 b 563 FL—7 L=y 1.50 1.50 1 2.25 2.25
AEE 75 5B 563 il SR TL— 1.50 1.30 1 1.95 1.95
PiNEE 745 b 565 FL—7 L=y 1.50 1.50 1 2.25 2.25
AER 75 5B 565 F— k7Y =Y TL—y 1.50 1.30 1 1.95 1.95
AER HARE 416 FL—7 L=y 2.60 1.85 1 4.81 4.81
AER H4RE 416 sV—>h—F> |TL—v 5.00 1.70 3 8.50 25.50
AER HARE 401 FL—7 L=y 2.60 1.85 2 4.81 9.62
AER HARE 401 sV—vh—F> |TL—v 5.00 2.20 4 11.00 44.00
AER B4R 401 g)—>h—F> |FL—v 4.00 2.20 2 8.80 17.60
AER HARE 402 FL—7 L= 2.60 1.85 2 4.81 9.62
AEE H4RE 402 g)—>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AER HARE 402 g)—=vh—Fv |TL—v 3.00 2.20 2 6.60 13.20
AEE H4RE 403 FL—7 TL—y 2.60 1.85 2 4.81 9.62




HE# A B X AR 5y IMH7Y By,
AEE H4RE 403 g)—>h—F> |FL—v 5.00 2.20 4 11.00 44.00
AEE AR 403 gY—vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
AER H4RE 403 F—rT)—v TL— 2.00 1.20 1 2.40 2.40
AEE AR 405 FL—7 L= 2.60 1.85 2 4.81 9.62
AEE HARE 405 g)—=>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AEE AR 405 g)—vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
AER H4RE 405 F—+T) =Y L= 2.00 1.20 1 2.40 2.40
AEE B AR 406 FL—7 L= 2.60 1.85 2 4.81 9.62
AER HARE 406 g)=>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AEE H4RE 406 g)—=>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AER S 406 F—rT =Y L= 2.00 1.20 1 2.40 2.40
AREE HARE hy77L V2R FL—7 TL—y 2.30 1.85 1 4.26 4.26
AER HARE hy77L> 2R F—+T =Y L= 2.00 1.20 1 2.40 2.40
¥N: AR FLAI— L FL—7 TL— 1.60 1.85 2 2.96 5.92
N AR TLAIL— L FL—7 L= 2.00 1.85 2 3.70 7.40
AER H4RE LA I— L il NV R TL— 2.00 1.20 1 2.40 2.40
AEE AR BEZER L AIL—L4 F—=—rT) = L= 2.00 1.05 1 2.10 2.10
AREE ERARE 407 FL—7 L= 1.80 1.85 2 3.33 6.66
AEE AR 407 g)—vh—F7v |TL—V 4.00 2.20 1 8.80 8.80
AER H4RE 407 sgV—>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AEE AR 408 FL—7 L= 2.60 1.85 1 4.81 4.81
AEE H4RE 408 sgV—>h—F> |TL—v 2.00 2.20 1 4.40 4.40
AEE B4R 408 g)—=vh—F7v |TL—V 4.00 2.20 1 8.80 8.80
AER H4RE 410 FL—7 L= 2.60 1.85 1 4.81 4.81
¥N: HARE 410 s)=vh—7> |TL—v 3.50 2.20 1 7.70 7.70
AER S 410 g)—=>h—F> |TL—v 2.00 2.20 1 4.40 4.40
AEE H4RE 411 FL—7 TL— 2.60 1.85 1 4.81 4.81
AER HARE 411 g)—=vh—Fv |TL—v 3.00 2.20 1 6.60 6.60
AER H4RE 411 g)—=>h—F> |FTL—v 2.00 2.20 1 4.40 4.40
AEE AR 412 FL—7 L= 2.60 1.85 1 4.81 4.81
AEE HARE 412 g)—=>h—F> |TL—v 3.50 2.20 1 7.70 7.70
AEE AR 412 g)—vh—F7v |TL—V 2.00 2.20 1 4.40 4.40
AEE AR B E g)—=>h—F7> |TL—v 5.00 2.20 1 11.00 11.00
AEE AR BE vy 7= L= 2.00 1.70 1 3.40 3.40
AEE AR F—RRF—=> 3> F—rTU = TL— 1.00 0.60 2 0.60 1.20
AEE B4R 413 F—=rT) = L= 5.00 1.70 2 8.50 17.00
AER H4RE 413 il NV R TL—> 2.50 1.70 1 4.25 4.25
AEE B4R 413 F—=rT) = L= 1.00 0.90 1 0.90 0.90
AER S 415 FL—7 - 2.60 1.85 1 4.81 4.81
AEE AR 415 F—=rT = L= 2.00 1.50 1 3.00 3.00
AER HARE 417 g)—=vh—Fv |TL—v 3.00 2.20 1 6.60 6.60
¥N: AR = F—brTF) =V L= 3.00 1.80 1 5.40 5.40
AER il EVA—ILEALE— L —X Fof: 2.20 2.10 2 4.62 9.24
AEE 7845 PR -NEE FL—7 TL— 2.60 1.85 2 4.81 9.62
AEE Fa4fE TR NEE F—rTU = L= 2.50 1.85 3 4.63 13.88
AEE FRARE PR --NEE il NV R TL—y 2.00 1.85 1 3.70 3.70
AEE 7o 4B TR NEE vy = L= 2.50 1.30 1 3.25 3.25
AER 7845 451 FL—7 L= 2.60 1.85 2 4.81 9.62
AER 7845 451 g)—>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AER 7845 451 g)—=>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AER 7845 452 FL—7 TL—y 2.60 1.85 2 4.81 9.62
AER 784 5 452 sV—vh—F> |TL—v 5.00 2.20 4 11.00 44.00
AER i 452 g)—>h—F> |FL—v 3.00 2.20 2 6.60 13.20
PiN:E 7845 453 FL—7 - 2.60 1.85 2 4.81 9.62
AEE 784 5 453 g)—>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AER il 453 g)—=vh—Fv |TL—v 3.00 2.20 2 6.60 13.20
AEE 784 5 455 FL—7 TL—y 2.60 1.85 2 4.81 9.62
AEE a4k 455 gY)—vh—F7v |TL—V 5.00 2.20 4 11.00 44.00
AEE 7845 455 g)—vh—F> |FTL—v 3.00 2.20 2 6.60 13.20
AEE Fa4pE 456 FL—7 L= 2.60 1.85 2 4.81 9.62
AER 7845 456 sV—>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AKEE Fa4pE 456 g)—=vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
AER 7845 457 FL—7 L= 2.60 1.85 2 4.81 9.62
AEE Fa4pE 457 g)—=vh—F7v |[TL—V 5.00 2.20 4 11.00 44.00
AER 7845 457 sV—vh—F> |TL—v 3.00 2.20 2 6.60 13.20
AER i 458 FL—7 TL—y 1.40 1.40 1 1.96 1.96
AER 7845 458 g)—=>h—F> |TL—v 2.50 2.20 1 5.50 5.50
AEE 7845 460 FL—7 TL— 2.60 1.85 1 4.81 4.81
AER il 460 il NV TL—v 2.00 1.85 1 3.70 3.70
AEE 7845 461 FL—7 TL—y 2.60 1.85 1 4.81 4.81




a7 #BEH A b &R 3 k&l BT 7l
AEE PR 4 461 F—rTU =V L= 2.00 1.85 1 3.70 3.70
PN P4 BE B D Y L= 1.50 2.00 1 3.00 3.00
AEE PR 4 462 FL—7 L= 1.30 1.85 2 2.41 4.81
PN PO 45 462 L—X L= 1.30 1.83 2 2.38 4.76
AEE Faa4pE 462 F—rTU =V L= 2.50 1.85 1 4.63 4.63
N Fa4 B 463 FL—7 L= 1.80 1.85 1 3.33 3.33
AEE PR 4 463 L—X L=y 1.80 1.83 1 3.29 3.29
N PR 4 463 F—bF) =V L= 2.50 1.85 1 4.63 4.63
AEE Fa 45 465 FL—7 L= 1.80 1.85 2 3.33 6.66
BB Fa4pE 465 L —X L= 1.80 1.83 2 3.29 6.59
AEE Fa 45 465 F—b7) =Y L= 2.50 1.85 1 4.63 4.63
N PR 4 466 F—rF) =V L=V 2.50 1.85 1 4.63 4.63
PN Fa 45 466 FL—7 L= 2.00 1.85 2 3.70 7.40
ZNE PR 4 466 L —X L= 1.80 1.83 2 3.29 6.59
PN PE4BE FR=E g)—vh—Tv |TL—V 2.00 2.20 1 4.40 4.40
AEE PR 4 MERE FL—7 L= 3.50 1.60 1 5.60 5.60
PN PO 45 HMERE FL—7 L=y 3.50 1.85 1 6.48 6.48
AEE Faa4fE MERE WK FL—7 L= 1.50 1.05 1 1.58 1.58
N P4 5% DIRE F—brF) =V L= 3.00 2.00 2 6.00 12.00
AEE PR 4 NHE F—br7) =Y L= 2.50 2.00 2 5.00 10.00
N PR 4 NIRE F—brF) =V L=V 2.00 2.00 2 4.00 8.00
AEE PR 4 N S fREE = F—b7) =Y L= 1.50 1.85 1 2.78 2.78
N PR 4 BHEF AL D A L= 1.50 1.80 1 2.70 2.70
AEE Fa4fRE NS (5 %%z P L= 1.50 1.68 1 2.52 2.52
N PR 4 P LAEAN D A ZD201 1.00 1.30 1 1.95 1.95
AEE Fa 45 BE ®IAa—7F-— FL—7 L= 4.00 1.80 1 7.20 7.20
ZN:E B 3B RE F—rF) =V L= 1.00 1.00 1 1.00 1.00
PN 3B 301 FL—7 L= 2.60 1.85 2 4.81 9.62
AEE 3B 301 g —vh—7v |TL—v 5.00 2.20 4 11.00 44.00
PN 3B 301 g —vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
AEE B3P 302 FL—7 L= 2.60 1.85 2 4.81 9.62
PN 3B 302 g —vh—Tv |TL—V 5.00 2.20 4 11.00 44.00
AEE B3P 302 J)—vh—7v |TL—v 3.00 2.20 2 6.60 13.20
N 3B 303 FL—7 L=y 2.60 1.85 2 4.81 9.62
AEE 3B 303 gV—=vh—Tv |TL—v 5.00 2.20 4 11.00 44.00
N =] 303 g —vh—7v |TL—V 3.00 2.20 2 6.60 13.20
AEE 3B 305 FL—7 L= 2.60 1.85 2 4.81 9.62
N B3 305 g —vh—F7v |TL—V 5.00 2.20 4 11.00 44.00
AEE 3B 305 gV—=vh—Tv |TL—v 3.00 2.20 2 6.60 13.20
ZN:E 3B 306 FL—7 L= 2.60 1.85 2 4.81 9.62
PN 3B 306 g —vh—Tv |TL—V 5.00 2.20 4 11.00 44.00
ZN:E B 3B 306 g —vh—7v |TL—V 3.00 2.20 2 6.60 13.20
PN 3B 307 FL—7 L= 2.60 1.85 2 4.81 9.62
ZN:E B 3B 307 J)—=vh—7v |TL—V 5.00 2.20 4 11.00 44.00
AEE 3B 307 g —vh—7v |TL—V 3.00 2.20 2 6.60 13.20
AEE 3B 308 FL—7 L= 1.80 1.85 2 3.33 6.66
PN 3B 308 g —vh—7v |TL—V 5.00 2.20 2 11.00 22.00
AEE 3B S - B 308 gV—=vh—Tv |TL—v 3.00 2.20 1 6.60 6.60
N B3 310 FL—7 L=V 1.80 1.85 2 3.33 6.66
AEE 3B 310 gV—=vh—Tv |TL—v 4.00 2.20 1 8.80 8.80
N B3 311 FL—7 L=V 2.60 1.85 1 4.81 4.81
AEE 3B 311 gV—=vh—Tv |TL—v 3.50 2.20 1 7.70 7.70
N B3 312 FL—7 L= 2.60 1.85 1 4.81 4.81
AEE 3B 312 gV—=vh—Tv |TL—v 3.50 2.20 1 7.70 7.70
ZNE 3B 313 FL—7 L= 2.60 1.85 1 4.81 4.81
PN 3B 313 g)—vh—T7v |TL—V 2.00 2.20 1 4.40 4.40
ZN:E H3PE EE g —=vh—7v |TL—V 5.00 2.20 1 11.00 11.00
PN 3B FT—RRAT—v 3V F—r7) =V L=y 2.00 0.75 2 1.50 3.00
AEE H3PE aR= F—r7TU =V L= 3.00 1.85 11 5.55 61.05
PN 3B 315 FL—7 L= 2.60 1.85 1 4.81 4.81
AEE 3B 315 gV—=vh—Tv |TL—v 3.00 2.20 1 6.60 6.60
PN 3B 315 F—bF) =V L= 2.50 1.85 1 4.63 4.63
AEE 3B 316 FL—7 L= 2.60 1.85 1 4.81 4.81
PN 3B 316 g —=vh—F7v |TL—V 3.00 2.20 1 6.60 6.60
AEE 3B 316 F—br7) =Y L= 2.50 1.85 1 4.63 4.63
N B3 317 FL—7 L= 1.50 1.85 2 2.718 5.55
AEE 3B 317 gV—=vh—Tv |TL—v 3.00 2.20 1 6.60 6.60
ZNE B3 317 F—brF) =V L=V 2.00 1.85 1 3.70 3.70
PN 3B Yy —= D Y L= 2.00 1.30 1 2.60 2.60
ZN:E 753 351 FL—7 L= 2.60 1.85 2 4.81 9.62




1% 7R BES A Hb B XK L HE IME7Y Fran7=t)
AEE 75 3B 351 g)—>h—F> |FL—v 5.00 2.20 4 11.00 44.00
AER 78 3P 351 g)—vh—Fv |FL—v 3.00 2.20 2 6.60 13.20
AER 75 3B 352 FL—7 TL—y 2.60 1.85 2 4.81 9.62
AER 78 3P 352 g)—vh—Fv |FL—v 5.00 2.20 4 11.00 44.00
AEE 75 3B 352 g)—=>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AER 78 3P 353 FL—7 L=y 2.60 1.85 2 4.81 9.62
AER 75 3B 353 sgV—vh—F> |TL—v 5.00 2.20 4 11.00 44.00
AER 78 3P 353 g)—>h—F> |FL—v 3.00 2.20 2 6.60 13.20
AER 78 35 355 FL—7 TL—> 2.60 1.85 2 4.81 9.62
AEE 75 3B 355 g)—=>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AER 78 35 355 g)=>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AER 75 3B 356 FL—7 TL— 2.60 1.85 2 4.81 9.62
AER 78 36 356 g)=>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AER 75 3B 356 g)—=>h—F> |FTL—v 3.00 2.20 2 6.60 13.20
AER 78 3P 357 FL—7 TL—v 2.60 1.85 2 4.81 9.62
AER 75 3B 357 g)—>h—F> |TL—v 5.00 2.20 4 11.00 44.00
AER 78 3P 357 g)—vh—F> |FL—v 3.00 2.20 2 6.60 13.20
AEE 75 3B 358 FL—7 L= 2.60 1.85 2 4.81 9.62
AER 78 3P 358 g)—>h—F> |FL—v 5.00 2.20 4 11.00 44.00
AER 75 3B 358 sgV—>h—F> |TL—v 3.00 2.20 2 6.60 13.20
AER 78 3P 360 FL—7 TL— 2.60 1.85 1 4.81 4.81
AEE 75 3B 360 sgV—>h—F> |TL—v 3.00 2.20 1 6.60 6.60
AER 78 3P 360 F—rT =V TL— 1.50 1.70 1 2.55 2.55
AER 75 3B 361 FL—7 L= 2.60 1.85 1 4.81 4.81
AER 75 3B 361 g)—>h—F> |FL—v 3.00 2.20 1 6.60 6.60
AER 74 36 361 F—rT =Y - 1.50 1.70 1 2.55 2.55
AEE 75 3B 362 FL—7 TL— 2.60 1.85 1 4.81 4.81
AER 78 3P 362 g)—=vh—Fv |TL—v 3.00 2.20 1 6.60 6.60
AER 75 3B 362 il NV R TL— 1.50 1.70 1 2.55 2.55
AER 78 3P 363 FL—7 L=y 2.60 1.85 1 4.81 4.81
AEE 75 3B 363 g)—=>h—F> |TL—v 3.00 2.20 1 6.60 6.60
AER 78 3P 363 il AR L=y 1.50 1.70 1 2.55 2.55
AEE 75 3B 365 FL—7 L= 2.60 1.85 1 4.81 4.81
AER 78 3P . 365 g)—vh—F> |TL—v 3.00 2.20 1 6.60 6.60
AEE 75 3B 365 F— k7Y —Y TL—y 1.50 1.70 1 2.55 2.55
AER 75 3B BE >y — TL—> 2.00 1.85 1 3.70 3.70
AER 75 3B B il NV R TL—> 3.00 1.70 1 5.10 5.10
AREE 730 F—RATF—v 3~ F—hr7TU =Y TL—y 1.50 1.70 3 2.55 7.65
AER 75 3B HFRE F—rT =Y - 3.00 1.85 7 5.55 38.85
¥N: 75 3B HRE =t = L= 4.00 1.85 1 7.40 7.40
AER 78 3P NSHIAE v — L=y 2.00 2.00 1 4.00 4.00
AEE 75 3B 366 FL—7 TL— 2.60 1.85 1 4.81 4.81
AER 78 3P 366 F—+TF =Y L=y 1.50 1.70 1 2.55 2.55
AEE 75 3B 366 g)—=>h—F> |TL—v 3.00 2.20 1 6.60 6.60
AER 78 3P 367 FL—7 L=y 2.60 1.85 1 4.81 4.81
AEE 75 3B 367 il NV R TL— 1.50 1.70 1 2.55 2.55
PNEE 78 3P 367 g)—vh—Fv |FL—v 3.00 2.20 1 6.60 6.60
AER 75 3B 368 FL—7 L= 2.60 1.85 1 4.81 4.81
AER 78 3P 368 =l AR TL— 1.50 1.70 1 2.55 2.55
AER 75 3B 368 g)—=>h—F> |TL—v 3.00 2.20 1 6.60 6.60
AER 75 3B 370 FL—7 TL—y 2.60 1.85 1 4.81 4.81
AER 75 3B 370 F—+T) =Y L= 1.50 1.70 1 2.55 2.55
AER 78 3P 370 g)—>h—F> |FL—v 3.00 2.20 1 6.60 6.60
PiN:E 74 36 371 FL—7 - 2.80 1.85 1 5.18 5.18
¥N: 75 3B 371 F—br7) =Y L= 1.50 1.70 1 2.55 2.55
AER 78 3P 371 g)—=vh—Fv |TL—v 3.00 2.20 1 6.60 6.60
AEE 75 3B 372 FL—7 TL—y 1.80 1.85 2 3.33 6.66
AER 78 3P 372 il NV L=y 2.00 1.70 1 3.40 3.40
AEE 75 3B 372 g)—vh—F> |FTL—v 3.00 2.20 1 6.60 6.60
PiNEE 78 3P * RE S g)—vh—Fv |FL—v 3.00 2.20 1 6.60 6.60
AER 75 3B F RE S sV—>h—F> |TL—v 2.00 2.20 1 4.40 4.40
AER 78 3P FREFFEK F—rTF =Y L=y 2.00 1.85 2 3.70 7.40
AER 75 3B FREBFEK v — L= 1.50 1.85 1 2.78 2.78
AER 78 3P FRELZFEK g)—>h—F> |FL—v 1.50 2.20 1 3.30 3.30
AER 75 3B FRELZFEK sV—vh—F> |TL—v 2.00 1.85 1 3.70 3.70
AER 78 3P FRENRBREE F—r7U—=V TL—> 1.50 1.60 2 2.40 4.80
AER 75 3B AR EE F— k7Y =Y TL—y 1.50 1.70 1 2.55 2.55
N: 75 3B AR F—r7T) = L=y 1.50 1.50 1 2.25 2.25
Hrtrz— 5P RIGIEE FL—7 TL—v 1.40 1.85 2 2.59 5.18
Hrtrz— 5 RIERE A TL—y 0.70 0.76 1 0.53 0.53




BESA 4 b 2N X 1IMH7-Y) ERIR2Y )
ey iz— hy7 7L v RIL—LA FL—7 L= 1.40 1.85 2 2.59 5.18
Hrtri— M= FL—7 7L 2.60 1.85 2 4.81 9.62
e A BmME g)—vh—FTv |[TL—V 3.00 2.20 2 6.60 13.20
Hrtrx— 522 FL—7 L= 2.60 1.85 2 4.81 9.62
I A 522 F—=rT = L= 4.50 1.85 1 8.33 8.33
Hrtrx— 522 F—rTU = L= 1.50 1.85 1 2.78 2.78
ey x— 523 FL—7 L= 2.60 1.85 2 4.81 9.62
hrtrx— 523 F—rTU = L= 4.50 1.85 1 8.33 8.33
Hrtrx— 523 F—rTU = L= 1.50 1.85 1 2.78 2.78
Hotrix— 525 FL—7 L= 2.60 1.85 2 4.81 9.62
Hrtrx— 525 F—rTU = L= 4.00 1.85 1 7.40 7.40
hrtrx— 525 F—rTU = L= 1.50 1.85 1 2.78 2.78
Hrtrix— 526 FL—7 L= 2.60 1.85 2 4.81 9.62
Hrtrix— 526 F—=rT) = L= 4.00 1.85 1 7.40 7.40
Hrtrx— 526 F—rTU = L= 1.50 1.85 1 2.78 2.78
e A 527 FL—7 L= 1.80 1.85 2 3.33 6.66
hHrtrx— 527 g)—vh—F7v |TL—V 3.50 2.20 1 7.70 7.70
e A 528 FL—7 L= 1.80 1.85 2 3.33 6.66
hHrtrx— 528 g)—vh—F7v |TL—V 3.50 2.20 1 7.70 7.70
ot x— 530 FL—7 L= 1.80 1.85 2 3.33 6.66
oty x— 530 gV—vh—T7>v |TL—> 3.50 2.20 1 7.70 7.70
ey x— 531 FL—7 L= 1.80 1.85 2 3.33 6.66
>y x— 531 gV—vh—T7>v |TL—V 3.50 2.20 1 7.70 7.70
Hrtrix— R FL—7 L= 1.60 1.60 1 2.56 2.56
hrterz— ER T FL—7 L= 2.10 1.90 2 3.99 7.98
Hrtrix— KIGEE 1 FL—7 L= 2.10 1.85 2 3.89 1.77
Hrtrix— 532 FL—7 L= 1.80 1.85 2 3.33 6.66
Hrtrix— 532 gY—vh—F7v |TL—V 3.50 2.20 1 7.70 7.70
e A 533 FL—7 L= 1.80 1.85 2 3.33 6.66
Hrtrx— 533 g)—vh—F7v |TL—V 3.50 2.20 1 7.70 7.70
ot x— 53b FL—7 L= 1.80 1.85 2 3.33 6.66
vt z— 535 gV—vh—7>v |TL—> 3.50 2.20 1 7.70 7.70
e A 536 FL—7 L= 2.60 1.85 2 4.81 9.62
Hrtrx— 536 F—rTU = L= 4.50 1.85 1 8.33 8.33
vty x— 536 F—rTU = L= 1.50 1.85 1 2.78 2.78
hrtrx— 537 FL—7 L= 2.60 1.85 2 4.81 9.62
Hrtrix— 537 F—rTU = TL—v 4.50 1.85 1 8.33 8.33
hrtrx— 537 F—rTU = L= 1.50 1.85 1 2.78 2.78
Hrtrix— 538 FL—7 L= 1.80 1.85 2 3.33 6.66
Hrotrix— 538 g)—=vh—F7> |TL—V 3.00 2.20 1 6.60 6.60
Hrtrix— 538 vy — L= 1.50 1.83 1 2.75 2.75
Hrotrix— 540 FL—7 L= 1.80 1.85 2 3.33 6.66
Hrtrix— 540 gY—vh—F7v |TL—V 3.00 2.20 1 6.60 6.60
Ve A 540 D A L= 1.50 1.83 1 2.75 2.75
Hrtrx— 541 FL—7 L= 1.80 1.85 2 3.33 6.66
e A 541 g)—=vh—FT> |TL—V 3.00 2.20 1 6.60 6.60
Hrtrx— 541 vy = L= 1.50 1.83 1 2.75 2.75
Hortrx— 542 FL—7 L= 1.80 1.85 2 3.33 6.66
hrtrx— 542 g)—=vh—F7v |TL—V 3.00 2.20 1 6.60 6.60
Hrtrix— 542 vy — TL—v 1.50 1.83 1 2.75 2.75
hrtrx— RV TATE FL—7 L= 1.80 1.85 2 3.33 6.66
ot z— RIVTATE gV—vh—7v |TL—v 3.00 2.20 1 6.60 6.60
hrterz— e pliw L= 1.80 1.85 2 3.33 6.66
Hrtrx— SEES il A L= 2.50 1.85 1 4.63 4.63
Hotrix— BE DA L= 2.00 1.85 1 3.70 3.70
Hrtrix— HHEFML vy — L= 1.50 1.70 1 2.55 2.55
Ve A NENAE D A L= 4.00 1.85 1 7.40 7.40
vt z— RIEE FL—7 L= 1.40 1.85 2 2.59 5.18
e A 421 FL—7 L= 1.40 1.85 2 2.59 5.18
hrtrx— 421 pliw L= 2.00 1.30 1 2.60 2.60
Hortrx— 421 gU—vh—7v |TL—v 3.00 2.20 1 6.60 6.60
Hrtrx— 422 FL—7 L= 1.40 1.85 2 2.59 5.18
Hortrx— 422 i L= 2.00 1.30 1 2.60 2.60
Hrtrx— 422 g)—=vh—F7v |[TL—V 3.00 2.20 1 6.60 6.60
Hrtrix— 423 FL—7 L= 1.40 1.85 2 2.59 5.18
hrtrx— 423 Pl L= 2.00 1.30 1 2.60 2.60
Hrtrix— 423 gV—vh—7>v |TL—> 3.00 2.20 1 6.60 6.60
Hotrix— 425 FL—7 L= 2.60 1.85 2 4.81 9.62
Hrtrix— 425 gY—vh—F7v |TL—V 5.00 2.20 2 11.00 22.00
Ve A 425 g)—vh—F7> |TL—V 3.00 2.20 2 6.60 13.20




BESA 4 b 2N X 1IMH7-Y) ERIR2Y )
e x— 426 FL—7 L= 2.60 1.85 2 4.81 9.62
e A e 426 gY—vh—F7v |TL—V 5.00 2.20 2 11.00 22.00
e A 426 g)—vh—FTv |[TL—V 3.00 2.20 2 6.60 13.20
hrterz— 427 FL—7 L= 2.60 1.85 2 4.81 9.62
I A 427 g)—vh—T> |TL—V 5.00 2.20 2 11.00 22.00
hrterz— 427 g)—vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
ot x— 428 FL—7 L= 2.60 1.85 2 4.81 9.62
hrtrx— 428 g)—=vh—F7v |TL—V 5.00 2.20 2 11.00 22.00
Hrtrx— 428 gV—=vh—7>v |TL—> 3.00 2.20 2 6.60 13.20
hrtrx— 430 FL—7 L= 2.60 1.85 2 4.81 9.62
Hrtrx— 430 gV—vh—7>v |TL—> 5.00 2.20 2 11.00 22.00
hrtrx— 430 g)—=vh—7v |TL—V 3.00 2.20 2 6.60 13.20
Hrtrix— 431 FL—7 L= 2.60 1.85 2 4.81 9.62
Hrtrix— 431 g)—=vh—F7> |TL—V 5.00 2.20 2 11.00 22.00
hrteriz— 431 gY)—vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
e A 432 FL—7 L= 2.60 1.85 2 4.81 9.62
hrterz— 432 g)—vh—F7v |TL—V 5.00 2.20 2 11.00 22.00
e A 432 g)—vh—Tv |TL—V 3.00 2.20 2 6.60 13.20
vty z— A4 FL—7 L= 2.10 1.85 2 3.89 7.77
vty x— 433 vy — L= 1.50 1.70 1 2.55 2.55
hrtrx— 435 D L= 1.50 1.70 1 2.55 2.55
ey x— 436 vy 7 — L= 1.50 1.70 1 2.55 2.55
hrtrx— 437 D L= 1.50 1.70 1 2.55 2.55
Hrtrix— 438 vy — L= 1.50 1.70 1 2.55 2.55
hrtrx— 440 D L= 1.50 1.70 1 2.55 2.55
Hrtrix— 441 FL—7 L= 1.40 1.85 2 2.59 5.18
Hrtrix— 441 g)—=vh—F7> |[TL—V 3.00 2.20 1 6.60 6.60
hrteriz— H=ET FL—7 L= 2.60 1.85 4 4.81 19.24
e A HEET F—=rT = L= 1.50 1.70 1 2.55 2.55
hrterz— HSEE T F—rTU = L= 1.00 1.60 1 1.60 1.60
ot x— HEERT F—rT = L= 1.50 1.20 1 1.80 1.80
hrterz— HESEE T F—rTU = L= 1.50 0.65 1 0.98 0.98
V2 A hy77Lv=R ‘A L= 1.40 1.85 2 2.59 5.18
hrterz— =L Pl L= 1.40 1.85 2 2.59 5.18
ot x— NBhAE vy 7 — L= 2.00 1.85 1 3.70 3.70
hrtrx— NS ME=AN F—rTU = L= 1.00 1.25 1 1.25 1.25
hrterz— BHARML vy — TL—v 1.50 1.70 1 2.55 2.55
hrterz— BHARMML D L= 1.50 1.70 1 2.55 2.55
hrterz— EELZEEEBZEMNRE FL—7 L= 1.40 1.85 2 2.59 5.18
Hrotrix— HCU(321) g)—=vh—F7> |TL—V 3.00 2.20 10 6.60 66.00
Hrtrix— HCU(321) gY—vh—F7v |TL—V 5.00 2.20 4 11.00 44.00
hrtrx— B = F—=rT = L= 3.00 1.85 1 5.55 5.55
hrteriz— WM E FL—7 L= 2.60 1.85 2 4.81 9.62
Ve A 322 FL—7 L= 2.60 1.85 2 4.81 9.62
hrterz— 322 g)—vh—F7v |TL—V 5.00 2.20 2 11.00 22.00
e A 322 g)—=vh—FT> |TL—V 3.00 2.20 2 6.60 13.20
hrterz— 323 FL—7 L= 1.00 1.85 1 1.85 1.85
Hortrx— 323 FL—7 L= 1.80 1.85 2 3.33 6.66
hrtrx— 323 g)—=vh—F7v |TL—V 5.00 2.20 1 11.00 11.00
Hrtrix— 323 gV—vh—7>v |TL—> 2.00 2.20 1 4.40 4.40
hrtrx— 323 D L= 2.00 1.70 1 3.40 3.40
vt z— ARy 7IL— L FL—7 L= 1.00 1.85 1 1.85 1.85
hrterz— ARy T7I— L FL—7 L= 1.80 1.85 2 3.33 6.66
Hrtrx— ARy 77— L gV—=vh—7>v |TL—> 5.00 2.20 1 11.00 11.00
Hotrix— ARy T7I— L g)—=vh—F7> |TL—V 2.00 2.20 1 4.40 4.40
hrterz— ERE FL—7 L= 2.10 1.85 2 3.89 1.77
Ve A HEER F—=rT = L= 3.00 1.85 1 5.55 5.55
hrterz— 326 FL—7 L= 2.60 1.85 2 4.81 9.62
ey iz— 326 gV—vh—T>v |TL—V 5.00 2.20 2 11.00 22.00
hrterz— 326 g)—vh—F7v |TL—V 3.00 2.20 2 6.60 13.20
Hortrx— 327 FL—7 L= 1.80 1.85 2 3.33 6.66
hrteriz— 327 g)—=vh—F7v |TL—V 3.00 2.20 1 6.60 6.60
Hortrx— 327 vy — L= 1.50 1.70 1 2.55 2.55
hrteriz— 328 FL—7 L= 1.80 1.85 2 3.33 6.66
Hrtrix— 328 gU—vh—7v |TL—v 3.00 2.20 1 6.60 6.60
hrtrx— 328 D L= 1.50 1.70 1 2.55 2.55
Hrtrix— 330 FL—7 TL—=v 1.80 1.85 2 3.33 6.66
hrtrx— 330 g)—=vh—7v |TL—V 3.00 2.20 1 6.60 6.60
Hrtrix— 330 vy — L= 1.50 1.70 1 2.55 2.55
Ve A 331 FL—7 L= 1.80 1.85 2 3.33 6.66
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Hrtrz— 331 g)—>h—F> |FL—v 3.00 2.20 1 6.60 6.60
Hrersa— 331 ] — TL—v 1.50 1.70 1 2.55 2.55
Hrtrz— 332 FL—7 TL—y 1.80 1.85 2 3.33 6.66
Hrers— 332 g)—vh—Fv |FL—v 3.00 2.20 1 6.60 6.60
Hytrz— 332 > — L= 1.50 1.70 1 2.55 2.55
Hrers— 333 FL—7 L=y 1.80 1.85 2 3.33 6.66
Hrtrz— 333 sgV—vh—F> |TL—v 3.00 2.20 1 6.60 6.60
Hrers— 333 > — TL—y 1.50 1.70 1 2.55 2.55
Hytrz— BHAXMAL ] — TL—> 1.50 1.70 2 2.55 5.10
Hytrz— BEZEE Vi TL—> 1.40 1.85 4 2.59 10.36
Hytrz— BEZEE F—r7FU—=V L= 1.50 1.70 1 2.55 2.55
Hrtri— AE >y — TL— 2.00 2.00 1 4.00 4.00
Hytrz— Bt R=E S —OUF 1.35 1.90 2 3.85 7.69
Hytrz— BlftRE L —X YoV 1.35 1.62 2 3.28 6.56
Hytrz— NARERE R E F—rTU =Y B L 1.50 1.85 2 2.78 5.55
Hrtrz— WNARSEZ AT =+t 7=V TL— 1.50 0.85 1 1.28 1.28
Hytrz— WARSE ST F—+r7U—=V L=y 2.00 0.85 1 1.70 1.70
Hrtrz— BEEE il SR TL—y 1.50 1.70 2 2.55 5.10
Hrers— BERE F—rT7 =Y L=y 2.00 1.70 1 3.40 3.40
Hrtri— BEEE il NV R TL—y 1.50 0.55 1 0.83 0.83
Hrers— BERE =l AR TL—> 1.50 1.50 1 2.25 2.25
Hrtri— ARk F—rT =Y TL—y 4.00 1.85 4 7.40 29.60
Hytyriz— RAREE F—rT =V TL— 3.00 1.40 1 4.20 4.20
Hytrz— ARk il NV R TL—y 3.00 1.85 1 5.55 5.55
Hrers— X 2 F—r7) =V TL— 3.00 1.85 1 5.55 5.55
Hytrz— BEEAEE el N R - 2.00 1.85 1 3.70 3.70
Hrtrz— BRIEE il N R TL— 2.00 0.80 1 1.60 1.60
Hrtrz— ABE Ry o F—+TFU =Y L=y 1.50 1.85 2 2.78 5.55
Hrtrz— ABE Ry 2 =+t 7=V TL—y 2.50 1.65 7 4.13 28.88
Hrtrz— NGNS =+ =V L=y 3.00 1.65 1 4.95 4.95
Hytrz— LEF2 1 S Fof: 1.40 1.30 2 1.82 3.64
Hrtrz— EERE BEH KFo7: 1.00 2.00 2 2.00 4.00
Hrtrz— EERE L —Z Fo7 1.00 1.98 2 1.98 3.96
Hytrz— EERE BEH KFo72 1.00 1.70 2 1.70 3.40
Hytri— HRE L —Z Fo7# 1.00 1.69 2 1.69 3.38
Hytyriz— HERE F—rTF) =V TL—> 2.50 2.10 2 5.25 10.50
Hytrg— LT v hb— LA S —O0f 2.80 1.90 4 7.98 31.92
LEE AE >y — TL—y 1.50 1.80 2 2.70 5.40

AER %) 10 #B A VA R R el N R - 4.50 1.85 1 8.33 8.33
¥N: B4 I A0 Ao VR R B F—brTF) =V TL— 5.00 1.85 1 9.25 9.25
AER WA PR 2R F—+TFU =Y L=y 3.00 1.85 1 5.55 5.55
AEE WA PRERRL g)—>h—F> |TL—v 3.00 2.20 1 6.60 6.60
AER W PR ERTL g)—=vh—Fv |FL—v 4.00 2.20 1 8.80 8.80
AEE WA PR ERRL F—brF) =Y L= 1.00 0.84 1 0.84 0.84
AER WRERTL g)—vh—F> |FL—v 1.50 2.20 1 3.30 3.30
AEE b PR #R F—r7TU—=V L= 1.50 1.85 2 2.78 5.55
PNEE WA PR 2R =+ =Y L=y 2.00 1.85 3 3.70 11.10
AER W PR ERRL v — L= 2.50 1.85 1 4.63 4.63
N FEERT 0 — F—hrTYU =Y TL— 4.00 1.85 1 7.40 7.40
AER fEEfT O — il NV R TL—> 1.50 1.85 1 2.78 2.78
¥N: EEfT a— S TL—v 2.50 1.90 1 4.75 4.75
AER fEEsT a— BEH TL—y 3.50 1.90 2 6.65 13.30
¥N: BRERZFERE F—r7T) = TL—v 2.50 1.70 1 4.25 4.25
PiN:E Ha&# F—rT =Y TL— 1.50 1.85 1 2.78 2.78
AEE BEaf F—r 7=V L= 1.50 0.84 1 1.26 1.26
AER Ha&H# il NV TL—v 2.00 1.85 2 3.70 7.40
AEE Faf il N R L= 3.50 1.85 1 6.48 6.48
AER H&k il NV L=y 4.00 1.85 1 7.40 7.40
AEE Fa&f# F—r 7=V TL—> 2.50 1.70 1 4.25 4.25
PiNEE AR} S TL— 3.00 2.55 1 7.65 7.65
AER ARA F—rT)—v TL—y 1.50 0.84 1 1.26 1.26
AER AR} S TL— 2.00 2.60 2 5.20 10.40
AER ARA F—+T—v TL—y 2.00 1.85 1 3.70 3.70
AER RELEBRER? B TL— 1.50 2.58 1 3.87 3.87
AER BREBREE? = TL—y 2.00 1.70 1 3.40 3.40
AER N R FL—7 TL—y 1.50 1.85 4 2.78 11.10
AER NBEY FL—7 L= 3.00 1.85 3 5.55 16.65
AEE INBE FL—7 TL— 1.50 0.84 1 1.26 1.26
AER aNGE S FL—7 TL—v 1.00 1.25 1 1.25 1.25
AEE INBEY il N R L= 1.50 2.20 1 3.30 3.30
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AEE NBRIBES FL—7 TL—y 1.50 1.70 1 2.55 2.55
AER NERIBES FL—7 TL—v 1.50 1.70 1 2.55 2.55
AER Eim AR F—r 7=V TL—y 2.00 1.75 1 3.50 3.50
AER Em AR g)—vh—Fv |FL—v 3.00 2.20 1 6.60 6.60
AEE Em AR ] — L= 2.50 1.45 1 3.63 3.63
AER Em A >y — L=y 2.00 1.45 2 2.90 5.80
AER Em AR F—+T) =Y TL—y 2.50 1.75 1 4.38 4.38
¥N: EmAR F—r7T) = TL—> 3.50 1.75 2 6.13 12.25
AER Em AR g)=>h—F> |TL—v 4.00 2.20 2 8.80 17.60
¥N: Em A =l AR L=y 4.00 1.75 2 7.00 14.00
AER Em AR F— k7Y =Y L= 6.00 1.75 1 10.50 10.50
AER M Em AR F—r7TYU—=V L= 2.00 1.80 1 3.60 3.60
AER Em AR g)=>h—F> |TL—v 2.00 2.20 1 4.40 4.40
AER ERAR F—r7TU—=V TL—y 3.00 1.85 1 5.55 5.55
AER Em AR F—kr7YU—Y TL—v 5.00 1.85 1 9.25 9.25
AER Em AR =+t 7=V TL— 3.00 1.85 1 5.55 5.55
AER Em AR F—r7YU—Y L=y 2.00 1.85 1 3.70 3.70
AEE Eim AR F—r7TU—=V L= 5.00 1.85 1 9.25 9.25
AER Em AR >y — L=y 2.00 1.45 1 2.90 2.90
AER Em AR il NV R TL—y 4.00 1.85 1 7.40 7.40
AER Em AR F—r7TYU—=V TL—> 2.00 1.85 2 3.70 7.40
AEE Em AR F—rT =Y TL—y 2.50 1.85 1 4.63 4.63
AER TFMAL >y — TL—> 2.50 1.70 1 4.25 4.25
AER WIREEA b —= FL—7 YoV 1.80 1.85 2 5.00 9.99
AER WREA F—= F—r7TYU—=V TL— 3.00 1.85 3 5.55 16.65
AER WREE Ak —= F— k7Y =Y - 2.00 1.85 1 3.70 3.70
AEE WIREA F—= v — TL— 1.50 1.40 1 2.10 2.10
AER WIRB/A b —< F— k7Y —Y L=y 1.50 1.85 1 2.78 2.78
AER WREEA b —~ il NV R TL— 2.00 2.00 1 4.00 4.00
AER DB E R BEH L=y 5.00 1.90 1 9.50 9.50
AEE DB E K BEH L= 2.00 1.90 2 3.80 7.60
AER WY =5 g)—vh—F> |FTL—v 4.00 2.20 1 8.80 8.80
AEE DB E K F—r7TU—=V L= 3.00 1.85 2 5.55 11.10
AER DB E R el A R L=y 4.50 1.85 1 8.33 8.33
AEE DB E K g)—=—vh—7> |TL—v 4.00 2.35 1 9.40 9.40
AER I k=5 F—rTF) =V TL—> 2.00 1.85 1 3.70 3.70
AER BB E K BEH TL—y 2.00 2.25 1 4.50 4.50
AER DB E K S TL—v 2.00 2.55 2 5.10 10.20
AER DB E K el N R - 2.00 1.85 1 3.70 3.70
AER DEBERE EEH TL— 5.00 1.90 1 9.50 9.50
AER LEBERE F—+TFU =Y L=y 2.00 1.85 1 3.70 3.70
AEE DENE g)—>h—F> |TL—v 3.00 2.35 2 7.05 14.10
AER LEBERE F—+TF =Y L=y 1.50 1.70 1 2.55 2.55
AEE LERE il N R TL— 2.00 2.00 1 4.00 4.00
AER KR il NV TL— 5.00 1.85 3 9.25 27.75
AEE B & # F—r7TU—=V L= 3.00 1.85 4 5.55 22.20
PNEE KB =+ =Y L=y 4.00 1.85 1 7.40 7.40
AER B & # F—+r7FU—=V TL—y 1.50 1.70 1 2.55 2.55
AER B e Vi TL—> 1.00 0.80 1 0.80 0.80
AER EEPAN R F—+r7FU—=V TL—y 4.00 1.85 4 7.40 29.60
AER A oA el N AR TL—> 3.00 1.85 3 5.55 16.65
AER RPN F—+r7FU—=V TL—y 1.50 1.85 2 2.78 5.55
AER EREAN R A ZOUTF 1.40 2.00 1 4.20 4.20
PiN:E FLyy>Zi—Anl S — - 2.00 1.85 2 3.70 7.40
¥N: BFEKRE =t = TL—v 2.00 1.85 1 3.70 3.70
AER BFEKE F— k7Y —Y TL—v 2.50 1.85 1 4.63 4.63
AEE mE 1 il N R TL—y 3.00 1.85 7 5.55 38.85
AER w1 F— k7Y —Y L=y 5.00 1.85 1 9.25 9.25
AEE wE 1 il SR TL— 1.50 1.50 12 2.25 27.00
PiNEE w2 F—r7YU—V L=y 3.00 1.85 5 5.55 27.75
AER e 2 F— k7Y =Y TL— 1.50 1.50 6 2.25 13.50
AER e 2 g)—>h—F> |FL—v 3.00 2.20 1 6.60 6.60
AER WaPR F—+T—v TL— 3.00 1.85 5 5.55 27.75
AER maPR =l AR L=y 5.00 1.85 1 9.25 9.25
AER MaZR F—+r7FU—=V TL—y 2.00 1.85 1 3.70 3.70
AER WaPR F—brT7) =V TL—> 1.50 0.90 1 1.35 1.35
AER AR (8) g)—=>h—F> |TL—v 2.00 2.20 4 4.40 17.60
AEE BRAR F—rTYU—=V TL— 5.00 1.85 2 9.25 18.50
AER BRAR il NV TL—v 3.00 1.85 5 5.55 27.75
AEE BREAR il N R L= 1.50 1.85 3 2.78 8.33
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ANEE 1B AN F—rTU—v TL—y 5.00 1.85 2 9.25 18.50
AEE 1B Ay F—kr7YU—Y TL— 2.00 1.85 7 3.70 25.90
ANEE 1B AN F—rTU—v TL—y 3.00 1.85 6 5.55 33.30
AEE 1P RLE = el AU TL— 2.00 1.65 4 3.30 13.20
ANEE 1P PRNLEE F— k7Y —Y TL— 2.00 1.85 3 3.70 11.10
AEE 1P RLE = ol AU TL— 5.00 1.85 6 9.25 55.50
ANER 1P PRNEE F— k7Y —Y TL— 3.00 1.85 3 5.55 16.65
ANEE 1B% RILEE (CFYEE) |v v 7 — TL— 1.50 1.70 1 2.55 2.55
ANEE 1P HEAARZRE F— k7Y =Y TL— 2.00 1.80 1 3.60 3.60
AEE 1B AN ) F—rTYU—=V TL— 5.00 1.85 1 9.25 9.25
AEE 1P Ygy F— k7Y =Y TL— 1.50 0.84 1 1.26 1.26
AER 1B JEE KNI HE el AU TL— 3.00 1.85 1 5.55 5.55
AER 1B Bl ES F— k7Y =Y TL— 5.00 1.85 1 9.25 9.25
AEE 1B Bk F—rTU—v TL—y 3.00 1.85 3 5.55 16.65
AEE 1P BAZLAL Sy — TL— 3.00 1.85 1 5.55 5.55
ANEE 1B FRAMAANRAL S — TL— 2.50 1.80 1 4.50 4.50
AEE 1P mfEp v sgV—vh—Fv |FTL—v 1.40 2.30 1 3.22 3.22
ANEE 1B mf e F— k7Y =Y TL— 5.00 1.85 1 9.25 9.25
AEE 1P MRI F—r7TYU—V TL— 4.00 1.85 1 7.40 7.40
ANER 1P MRI sY—vh—F> |FTL—v 3.00 2.20 4 6.60 26.40
AEE 1B MRIZRE F—r7TYU—=V TL— 3.00 1.85 1 5.55 5.55
ANER 1B MRIZRE F— k7Y —Y TL— 3.50 1.85 3 6.48 19.43
AEE 1B MRIZRE S YoV 1.10 1.20 1 1.98 1.98
ANEE 1P U=7vo 1 F— k7Y =Y TL— 3.00 1.85 1 5.55 5.55
AEE 1B yz7vs 1 F—r7TYU—=V TL— 2.00 1.85 1 3.70 3.70
ANEE 1P Nk (VZT v IRERE il AR TL— 5.00 1.85 1 9.25 9.25
AEE 1B V=T v IBRE F—rTU—v TL— 3.00 1.25 1 3.75 3.75
AEE 1P U7 v IBRE el AR TL— 2.00 1.85 1 3.70 3.70
ANEE 1B YU=_T v I PRE F— k7Y —Y TL— 3.00 1.85 5 5.55 27.75
AEE 1P CTyIalL—%— F—r7TYU—Y TL— 2.50 2.15 1 5.38 5.38
ANEE 1P RI F— k7Y =Y TL— 2.00 1.85 1 3.70 3.70
AEE 1P RI F—r 7YY=V TL— 3.00 2.00 2 6.00 12.00
ANEE 1B PRE] FL—7 TL— 3.75 1.80 1 6.75 6.75
AEE 1P PRE] FL—7 TL— 1.80 1.80 1 3.24 3.24
ANEE 1B PRE?2 FL—7 TL— 3.75 1.80 1 6.75 6.75
AEE 1B PRE?2 FL—7 TL— 1.80 1.80 1 3.24 3.24
ANEE 1P AR FL—7 TL— 2.45 1.80 1 4.41 4.41
AEE 1B BAR FL—7 TL— 1.60 1.80 2 2.88 5.76
ANEE 1P AR FL—7 TL— 1.80 1.80 2 3.24 6.48
AEE 1B BAR v — TL— 2.00 0.97 1 1.94 1.94
AEE 1P PRE3 FL—7 TL— 4.76 1.80 1 8.57 8.57
ANEE 1B PRE3 FL—7 TL— 2.16 1.80 1 3.89 3.89
AEE 1P BESE FL—7 TL— 2.00 1.80 1 3.60 3.60
AREE 1F& ZREL FL—7 L= 2.10 1.80 1 3.78 3.78
AEE 1P YT w2 FL—7 TL— 2.56 2.20 2 5.63 11.26
ANEE 1B PSR BEH TL— 2.20 1.10 1 2.42 2.42
AEE 1P MU AR AL sV—vh—Fv |FL—v 3.00 2.20 1 6.60 6.60
ANEE 1B PSR sY—vh—Fv |FL—v 2.00 1.70 1 3.40 3.40
AEE 1B TSR F—r7TYU—=V TL— 4.00 1.85 2 7.40 14.80
ANEE 1P MUETHR R F— k7Y =Y TL— 3.00 1.85 5 5.55 27.75
AEE 1B MU AR AL F—r7TYU—=V TL—y 2.00 1.85 2 3.70 7.40
ANEE 1P PUETHR AL F— k7Y —Y TL— 3.00 2.50 1 7.50 7.50
ANEE 1B% BETIRE ZFBEK F—r7TYU—=V TL—y 3.00 1.85 1 5.55 5.55
ANEE 1P MR AL F— k7Y =Y TL— 2.00 1.46 1 2.92 2.92
AREE 1F& TR A =t = L= 5.00 2.50 1 12.50 12.50
AEE 1P BERE F— k7Y —Y TL— 4.00 2.52 1 10.08 10.08
AEE 1R& TR =t = L=y 1.50 0.70 2 1.05 2.10
AEE 1P TSR F— k7Y —Y TL— 2.00 1.10 1 2.20 2.20
ANEE 1B PUETHR AL F—rTU—v TL— 3.00 0.90 1 2.70 2.70
AEE 1P EER A TL— 1.80 1.60 4 2.88 11.52
ANEE 1B EEE v —OUf 1.50 1.68 3 3.78 11.34
AEE 1P EER WS OO0 2.40 1.68 1 6.05 6.05
ANEE 1B EEE F— k7Y =Y TL—y 1.50 1.60 1 2.40 2.40
AEE 1P ABRBIZ B > & =AY | — 7Y —Y TL— 1.50 1.20 1 1.80 1.80
AER 1P EHLZFEK F— k7Y —Y TL— 1.50 1.70 1 2.55 2.55
feEEt 2 — (2B NS - LFEEE B YoV 1.60 1.67 8 4.01 32.06
fb¥Est 2 — (2B NS - bFEEE L —X YoV 1.60 1.66 8 3.98 31.87
b Est 2 — |2 NS - LFEEE B YoV 1.30 1.67 8 3.26 26.05
fb¥EEt 2 — (2B NS - bEEEE L —2 o0 1.30 1.66 8 3.24 25.90
fbEstr 22— |2 NS - bFEEE S YoV 2.40 1.67 8 6.01 48.10
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L FEEL 2 — (28 NS - {tFEEE L —X ZO07E 2.40 1.66 8 5.98 47.81
bFEE Yy 2— |28 NS - btFEEE F—rTU = L= 5.00 2.40 18 12.00 216.00
LW FEEL X — (28 NS - {btFEEE F—=rT = L= 3.00 2.40 1 7.20 7.20
{tFEEE 2 — |2 Hy 7 7LV RE F—br7TV = TL—v 3.00 2.40 2 7.20 14.40
bFEEE 2 — |28 AEE F—=rT = L= 4.00 2.40 1 9.60 9.60
L FEEL X — (28 AEE F—rTU = L= 3.00 1.80 1 5.40 5.40
ftEE AL 2 — |2F% ZREAOX 4 F—r7T) = - 1.50 1.80 4 2.70 10.80
Bty 2 — 1p& Hh>77L X2 FL—7 ZDO0FE 1.60 1.70 2 4.08 8.16
Bt 2 — 1P h>y77L>R2 FL—7 —D07 0.90 0.85 1 1.15 1.15
Bt & — 1F& hy77LVvR2 FL—7 ZO0Tf 1.90 1.70 1 4.85 4.85
Bt 2 — 15% B= B L= 2.50 1.25 1 3.13 3.13
Bty 2 — 1B B= B L= 2.50 1.40 1 3.50 3.50
Bt 2 — 15% = FL—7 —D07 1.80 1.70 1 4.59 4.59
Bt X — 1B BT EEH ZDO07E 0.80 0.88 2 1.06 2.11
Bt 2 — 1B& BT L—X D07 1.60 0.87 1 2.09 2.09
Bt 2 — 1B BT B ZO07E 2.30 1.77 2 6.11 12.21
Bty 2 — 1B BT L—X D07 4.60 1.67 1 11.52 11.52
Bt X — 1B BT bl ZDOW07E 1.60 1.73 2 4.15 8.30
Bty 22— 1B BT L —X ZDO07 3.20 1.63 1 7.82 7.82
Bt % — 1B BT Dl X0Vl 2.30 1.73 4 5.97 23.87
Bty 2 — 1B BT L —X ZDO0F 4.60 1.63 2 11.25 22.49
Bt % — 1B BT Dl X0\l 0.90 1.70 2 2.30 4.59
Bty 2 — 15% BT L —X ZDO0F 1.80 1.69 1 4.56 4.56
Bty 22— 1B TFBERE F—rT) = L= 2.00 1.85 1 3.70 3.70
Batr 2 —8 3 Fog—~)EES SMESE ZDOWTE 2.00 1.32 1 3.96 3.96
et z—tE |2k HIES B —oUF 1.00 1.64 1 2.46 2.46
Hat 2 —®& 2B BIZE g)—=vh—F7> |[TL—V 5.00 2.35 1 11.75 11.75
et z—tE |2k ccu B —OUF 1.30 1.64 4 3.20 12.79
Katrx—, 20 ccu EEH ZO07E 1.50 1.64 2 3.69 7.38
Hatr a2 —® 20 ccu g)—vh—F7v |TL—V 4.00 2.35 4 9.40 37.60
Motz —i& 205% ccu g —vh—7v |TL—v 4.50 2.35 4 10.58 42.30
Hat > x—1% 2% CCUM@= B D07 1.30 1.64 4 3.20 12.79
Katrx—, 20 CCUE= g)—vh—Tv |TL—V 4.00 2.35 2 9.40 18.80
Hatr a2 —® 2B ccuf@= g)—vh—F7v |TL—V 4.00 1.70 2 6.80 13.60
Matrx—®& 2B& BFEKRE F—r7T) = L= 2.00 1.85 1 3.70 3.70
Mat > x—®& 2B FFEKRE F—=rT) = L= 1.50 1.85 1 2.78 2.78
et x—® 20 TFBERE F—rTU = TL—v 1.50 1.85 2 2.78 5.55
ety g—tE |2k BB X 15 S —oOUF 1.00 1.64 1 2.46 2.46
et x—1& 15% E gV—vh—7>v |TL—> 1.50 2.35 1 3.53 3.53
Hat > x—®& 15% 22, 3, 4 g)—=vh—F7> |TL—V 2.00 2.35 3 4.70 14.10
Hat > x—1F 1F& BHRE23.4 F—rT) = L= 3.00 2.15 2 6.45 12.90
Wat 2 —®& 15% BHRF23.4 F—=rT = L= 3.50 2.15 2 7.53 15.05
Hat a2 —1F 1F& BHRE23.4 F—rT) = L= 4.50 2.15 1 9.68 9.68
Katrx—&, 15% FR=E] F—=rT = L= 4.00 2.15 1 8.60 8.60
Hat > x—1% 1B RR=E] F—rT) = L= 5.00 2.15 1 10.75 10.75
Matrx—%, 1B E=E 1 F—=rT = L= 6.00 2.70 1 16.20 16.20
Hat a2 —® 1F& MEE 1 F—rTU = L= 3.00 2.70 1 8.10 8.10
Wat > x—®& 1B VEE2. 3 F—rT) = - 6.00 2.70 1 16.20 16.20
Hat > x—®& 15% MEE2,. 3 F—=rT) = L= 6.00 2.70 2 16.20 32.40
et x—® 15% CTH#HE=E F—rTU = TL—v 3.50 2.70 2 9.45 18.90
Bat 2 —8 1B CT#E= F—=rT) = L= 2.50 2.70 1 6.75 6.75
et x—®& 15% CT=E F—rTU = L= 3.00 1.85 1 5.55 5.55
Hat > x—® 1F& — R E F—=rT) = L= 3.00 1.85 1 5.55 5.55
etz —iE 1B A7 s S —oUF 1.30 1.66 2 3.24 6.47
Hat 2 —®& 15% ah 3k F—=rT = L= 4.50 2.15 1 9.68 9.68
etz —iE 1B 4\ 3k F—rTY—v TL— 2.50 2.15 1 5.38 5.38
Katrx—, 15% a3k D A L= 2.50 1.60 1 4.00 4.00
Hat > x—1& 15% HEEYERE WS —DO07E 2.30 2.64 1 9.11 9.11
Katrx—%, 15% BEE=E1 ity ZDO072 2.60 1.66 1 6.47 6.47
Hat > x—® 1F& BEE=E1 pliw ZDO0TE 1.80 1.66 1 4.48 4.48
ety z—tE |1k ICUMEM & B —oUF 1.20 1.68 1 3.02 3.02
Hatrx—®& 1F& ICUHB= Pl ZDO07 1.20 1.68 1 3.02 3.02
Mat > x—®& 15% ICUHB= i Z—DOW07E 0.70 1.68 1 1.76 1.76
Hatr 2 —®& 1F& ICUHB= F—rTU = L= 3.00 2.00 1 6.00 6.00
ety z—tE |1k | CU (154) S —OUF 1.30 1.65 4 3.22 12.87
Hat > x—®& 15% | CUME=E 1 WS ZDO0FE 1.20 1.65 6 2.97 17.82
et az—tE |1k | CUREZE 1 B —oUF 1.10 1.20 1 1.98 1.98
Hat 2 —/& 15% | CU EEH ZDO07 1.80 1.65 1 4.46 4.46
etz —iE 1B | CU B —OUF 1.50 1.65 3 3.71 11.14
Katrx—, 15% | CU g)—vh—F7> |TL—V 4.00 2.35 1 9.40 9.40
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Hatrx—iE 1B | CU g)—>h—F> |FL—v 5.00 2.35 1 11.75 11.75
Haty s —1iE 1k& — &R BN OO0 1.30 1.42 14 2.77 38.77
Hatrx—iE 1k& — IR R g)—vh—F> |TL—v 3.00 2.35 8 7.05 56.40
ety —iE 1k& — IR g)—vh—Fv |FL—v 4.00 2.35 8 9.40 75.20
Hatr g —iE 1k& e BEH YoV 1.10 1.65 2 2.72 5.44
ety —iE 1k S S YoV 1.30 1.65 2 3.22 6.43
ety —iE 1k& HEE Do) YoV 1.10 0.60 1 0.99 0.99
ety —iE 1P MEaLEXE S ZOUTF 0.90 1.64 1 2.21 2.21
=X 1,543 9,019.7




